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Instructions for Candidates

1. Write yoﬁr Roll No. on the top immediately on recé.ipt

of this question paper.

2. There are eight questions. in the question paper.
Answer any six questions. Py T

3. All questions carry equal mark'.A i

4. Answers may be written either in English or Hindi;

but the same medium shouvld be used throughout the .

paper.
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(a) What is Macroeconomics? Brieﬂ.y' discuss the

different Macroeconomic issues.

- (b) Compare the classical and Keynesian views on

the speed of wage and price adjustment. What
~are the important consequences of the differences

in the classical and Keynesian views? (8,7)
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2. (a)‘HO“' does GDp differ from GNP? " .nl‘l ly l‘
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(b) Discuss the produet gnd Income approaci

measuring Gross Domestic Product (GDP). 5,10)
. (5,
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3. Suppose Congress decides to reduce transfer
payments (such as Welfare) but to increase government
purchases of goods and services by an equal amount.
That is, it undertakes a change in fiscal policy such
that AG = -ATR.' Where G = Government Expénditure,_
TR = Transfers | | '

(i) Would you expect equilibrium income ¢, rise or
fall as a result of this change? Why? Check
your answer with the following CXample; Supposel

that, initially, ¢ = .8, t = 23 and Y, =600. Now

- let AG = 10 and ATR = ‘10~|
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(i) Find the change in equilibrium income, AYo.

(i), What is the change in the budget surplus, BS7
Why has BS changed? (15)
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4. (a) Define the expected after-tax real interest rate
If the tax rate on interest income declines, what

: h..appens to the. expected after-tax real interest
rate? .
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(b) What is g
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(¢) Explain the concept of Money Multip (5,5:5)

5.‘ (a) What is Multiplier? How multlpher is related to
Marginal Propensny to Consume (MPC)‘? Explam .

W1th an example

i (b) Described by the following functions :

Cons_umptibn | - C =50+ 8YD
Investment I =70 4
Government Expe’nditure G = 209
Transfers “TRe 100

Tax Rate t =20
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(i) Calculate th‘? c.qmlibrium level of income
~ and the multipliet in this model.

(i1) Calculate also the budget surplus, BS.

(iii) Supposé that t increases to .25. What is
the new equilibrium income? The new
multiplier. - f vy , (7,8)
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‘ al wealth, and why is it important?

al wealth linked to national saving?

(b) How the demand for and supply of central bank
money determineg e equilibrium interest rates in
an economy with currency and checkable deposits?
Explain.using formal analysis and diagrams.

| (5,10)
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7. (a) Why do we call mechanisms such as proportlonal
income taxes and the welfare system automatic

stabilizers? Choose one of these mechanlsms and

explain carefully how and why it affects

fluctuations in output:

(b) How is the rate of interest determined By the
demand and supply of m oney? What happens to

the interest rate if*

P.T.O..



8

1432
(i) Nominal income increggey
] b
(i) Money supply increageg, (5,10)
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8. Explain the followings

(i) Monetary Aggre gates’

ot
.

(i) Inflation

(i) ‘Consumption Function and Saving Function

(15)
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